DTID MNP NY

INNXT7 QY 2 DITN 20T

Fell’s Point

(M*vo12 o172 MY)

Y1012 1232 WP 293
29177 1232 2w 129
yalalroRi hin o)
2230 P2 IR T R0

DMWY NPT DDA Y
P 12y oy 1230
nDYuRI iM% Oy wai? 2937
PWH N7 Apis 07X T2

1330 Y980 P MWD
2in77 23w WKy won
131 MY 1290 WoIa 1N
210 P2 Y7 IR 17 P

17922 = 1in

Al adit

220



27 YINTINY

221

19¥n Yyavl vavin Ny
(2°7 RINT2 Do DI P2 I ORNN SINN)

(77127 1192) 19D1IM 1991 DW3T *DN1,DTRA AW
023y W M2 Sunt vnw nawy Ty

MY Y2 AEINT) 1T MY 7Y

ninmm A7 W W YT

DRYR OWR ARUn UREY DO

291X DX INDR PR

AN MR KN WA MRNA? MRWHTIRR
ARI9MI 92 DY H2T MTITI0Y IR 03 3R]

22 22K, 112 MIWDR2 PBRD DY YRR 0 Y
723 722D 7737 JONY 10

JIRT PR) 00 19R I0ppn- R -bhun:n
(2wm) 72°2 IniPa 2271 NiMDD NIYY Tin

YIR1 7737 T7In2 273y ApiY

niarlilal

TN

erenpigeln)

AMRNT BB

21 IR IR2DNT P27 NRD)
012 APIRT W2 M1PR Y37

HENE

17122 = 1



V' NIDN 7V
(1%10)

WX 21 72377 770 93 DD X7
" N2Y3 Y0 WD 2020 1N

SUPw 0P 1¥N1 M iy

WX 2Y) *2277 770 13 vWBIn X7
w172 NRin X2 TR w033 mRnn
WIL? 7Y P2 OTR 27

"WXI Y1 2377 170 A vEEN X
" 72Yn3 Y0 WD 210 1N

WO P, NUAPYH 7 M2 AT

7'7wn
(V917V)

JI°R7 07 7N Yy mwn w12
MPN2 NN MYWD 27y
J7RIN (0w NPT A7DR 171y
119°R7 027 AN %Y MWD w12
11233 AINA 123 MR 2y 771y
1T APDYY NEIN VY

1i°R7 027 7in Yy mwn wxn
W2 N3N YWD 27

17 022 = 1in

Al adit

222



